SOLUTT ONS
Math 71 Spring 2006 QUIZ #6@ 15 points Name:

Write in a neat and organized fashion. You should use a pencil. For an exercise to be complete there
needs to be a detailed solution to the problem. Do not just write down an answer. Ne proof, no credit
given.

1. Find the domain of the function f(x)= —ZL .
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2. Simplify the following:
2 2
2) 23x 4 - b) — x+2y 2.x -4y _
x° =25 x+5x,( x“+4xy+4y 2x
S S x#2y @'2)’)(“\%
(k+90xs)  X*E , = “"ZE" ' Z X
" Lo x45)/x-5) (xr2p)® ‘
3)(—9/)('5) _ X_Z‘/ ‘
T (x+5)(x-5/ =i
_ 3X- ¢x420
T (x+5)(x-5)
_| 20-X
(x#63(%)
%
3 3 /2 o=t
- f 3 X7
c) (2x’]+y‘1) = = = d) ;;C = —_——
-1, - 8 ¥ ¥
2X +Y , 8 =7 Y e
\ !
= = z - 3X
2. -yl 2pX , —x
Ligexy Xy - £ - 8x
— "mxf AAAAA %
2y #X 3-3x . I-4x
! Z = — - "
B‘N » /;é‘ g / 2
X é’/@ /




